Name:

Date:

Teacher:

Class:

Subtraction 402

What does a baby snake play with? A rattlesnake.

Subtract (Take away) these numbers to find the total.

NO Trading.
L 691 2 861 ¢ 800 4 630 > 748 ¢ 127
— 151 — 861 — 300 — 620 - 711 — 114
7 390 & 679 ¢ 719 10 169 1. 332 12 0931
— 270 — 511 — 317 — 159 — 220 — 231
3915 4 777 5 131 1 806 ! 636 & 294
— 910 — 614 - 121 — 602 — 114 — 162
19 617 2 517 2 489 2 640 2 406 ** 842
— 214 — 513 — 359 — 620 — 104 - 121
25 B37 %6 108 % 361 28 463 2 560 30 865
— 515 — 102 — 161 — 422 — 320 — 420
3. 744 32 277 B 177 3 885 B 215 3 119
— 613 — 173 - 117 — 433 — 102 — 119
8. 209 38 B3 3 311 4 382
— 100 — 100 - 111 — 261
© Facilitators Ferriswheel WS#:Sub402 Score:



Answer Key Date:

Teacher: Class:

Subtraction 402

What does a baby snake play with? A rattlesnake.

Subtract (Take away) these numbers to find the total.
NO Trading.

691 2 861 * 800 4+ 630 > 748 ° 127

- 151 -81 —300 -—620 —711 — 114
540 0 500 10 37 13
7390 & 679 % 719 1 169 1 332 12 93]
- 270 -511 -317 —159 —220 - 231
120 168 402 10 112 700
13915 4 777 15 131 16 806 1 636 1% 294
- 910 -—614 —121 —602 - 114 — 162
5 163 10 204 522 132
19. 617 2 517 2. 489 2 640 2 406 2 842
- 214 -513 -359 —620 —104 — 121
403 4 130 20 302 721
%5 537 2 108 2 361 % 463 2 560 3 865
- 515 —102 - 161 —422 —320 — 420
22 6 200 41 240 445
L. 744 2 277 % 177 3% 885 B 215 36 119
- 613 —173 - 117 —433 —102 - 119
131 104 60 452 113 0
37. 209 38. 536 39. 311 40. 382
- 100 —-100 —111  — 261
109 436 200 121
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